ABC Rapid Prototype Lessons Learned

Red River Army Depot (RRAD) RP (7-10 Oct 02)

1.  TACOM’s Red River Army Depot (RRAD) went through the Activity Based Costing (ABC) Rapid Prototype (RP) process to develop an initial ABC model.  The following are the lessons learned from that effort:

a.  RRAD did not develop a standard activity dictionary prior to the start of the RP.  The advantage of an activity dictionary is that the activities are well defined and everyone who participates in the RP has a standard definition of what costs/resources are captured by the activity (i.e. work being done).

b.  Prior to the start of the RP RRAD identified the resources/dollars associated with both direct and indirect activities and pre-loaded this information into the OROS software.  The direct costs came from the Standard Depot System (SDS)/Army Workload Performance System (AWPS) database (hours times the charge rate) for the crossdrive (transmission) line.  For the RP the information was manually entered into OROS (ABC software) from these databases.  The ultimate goal is to automate this.

c.  When assigning supply dollars (from the resource module) to activities the resource driver used was dollars.  There is no problem using dollars as a driver.

d.  Percentages were used to assign miscellaneous expenses to activities.  This usually means the allocation was a guess and not precise.  To get additional precision would take a lot more work and the question would be “is greater precision worth the effort?”  Is the view worth the climb?  You continually ask this question as you build your ABC model.

e.   The following is a model building technique used to solve a problem of an activity cost that did not assign logically to the cost objects.  Costs were assigned from the Resource module to the activity “Provide Communication”.  Could not come up with a logical driver to assign costs from the activity to the cost objects.  Solution was to create another set of activities (in the Activity module).  A folder titled “Supported Departments” was created with each RRAD indirect cost center listed in the folder.  Costs were then assigned from “Provide Communication” to the various departments in the Activity module.  It was then easier to assign the costs from the various departments to the cost objects.

f.  The following model logic was used to build the RRAD ABC model.  The different organizations in the depot were categorized into the following:  BASOPS (above shop overhead), Director of Operations (within shop overhead groups) and Revenue Producing Output Groups (these are the organizations that actually produce the products that are sold—e.g. Crossdrive department).  The model logic was that in the Activity module costs were assigned to all three groups initially from the resource module.  Then costs were assigned from the groups that support revenue production (BASOPS & Dir of Operations) to a second set of activities created in the Activity Module titled “Supported Departments”.  Supported Departments contained Activities (e.g. Dyno section, clean & paint body, etc.) that contributed to producing revenue for the revenue producing groups (crossdrive department in the RP) in the Activity module.  Costs were assigned from the activities in the Supported Departments folder to the Cost Objects in the Cost Object Module.  Costs were assigned from the Revenue Producing Output Groups (e.g. crossdrive department) to the Cost Objects in the Cost Object module.  What this did was separate the direct and indirect costs in the Activity Module and then assign them separately to the Cost Objects in the Cost Object Module.

g.  There are organizations that provide capability or capacity to the Revenue Producing Output Groups but they may not be fully utilized by those groups.  Examples would be an EEO office or the fire department.  They provide a capability that may or may not be used by the Revenue Groups.  You should still assign costs from these groups to the Supported Departments activities—whether they use them or not.

h.  How do you handle contractor costs?  At RRAD they have a Raytheon contract.  Normally you can’t control what the contractors activities are or how they get the work done—you pay them to provide a product or service.  In the ABC model this is handled by assigning the costs for the contract from the Resource module to the Activity module (in the Dir of Operations).  You might call the activity “Raytheon Services”.  You then assign costs from that activity to the Supported Departments activities and then to the cost objects in the Cost Object module. 

i.  After the RP process here are some thoughts about going forward with the ABC model.  As the model matures you may want to collapse activities as you make process improvements and improve them.  This simplifies the model and makes it easier to sustain over time.  You end up with fewer activities to collect and feed information into the model and therefore less effort to sustain. 

j.  Initially concentrate cost management efforts on high dollar activities and maybe lower dollar activities that may be easy to process re-engineer.

k.  In the Activity module you have some options to get more detail or information into the ABC model.  Two that were discussed were created cost elements and assigned cost elements.  They are both created under an Activity in the Activity module.  In the RRAD model under the Activity “DPW Support” they created the following created cost elements:  fire department, safety, engineering, and DPW admin.  Costs from the Resource module were only assigned to the “DPW Support” Activity, not the created cost elements.  They were for information only and describe what costs are included in the Activity.  You could accomplish the same thing with model notes, but this provides the detail right into the model structure.  Assigned cost elements are created under an Activity in the Activity module, but they do have costs assigned to them from the Resource module.  In the RRAD model assigned cost elements were used to assign costs from a first set of activities to the Supported Departments activities.  Under the folder in the Activity module “Dir for Public Works” they had the following assigned activities:  provide facilities support, provide environmental support, provide depot property support.  Costs were then assigned from these to the Supported Departments activities in the Activity module.

l.  The question about tenants came up during the model build.  If you have negotiated agreements to provide them a level of service in return for a reimbursed amount (fee) can you use the ABC model to capture the actual cost of providing the service and to compare with the reimbursed amount?  Yes, you could create a cost object for the service and use it as a basis to seek higher reimbursement from the tenants.

m.  Had to make a decision on how to allocate costs from the assigned cost element (Activity) “provide facilities support” to the Supported Departments activities.  Options were to assign only their fair share of costs to the Supported Departments or assign all costs since ultimately the Revenue producers paid for this anyway.  They used square feet to assign the costs and decided to assign only their fair share with a % allocated to “Other”.  This would provide visibility into the split between their fair share and the total cost with the costs from “Other” ultimately assigned to the cost objects in the Cost Object module.

n.  Sensitivity analysis with the ABC model.  It was demonstrated that by varying a driver quantity (activity or cost driver) in the model you could see the impact on costs.  This is an additional capability of an ABC model where you could vary driver quantities and see the impact on your costs.

o.  To determine what resources have not been assigned in the Resource module to activities in the Activity module you can run the “unassigned resources” report in OROS.

p.  ABC philosophy—for a cost like workman’s comp do you assign it to every area or only those areas that have people on workman’s comp?  Do all areas share the cost because they could all potentially have someone on workman’s comp or do you assign the costs to only those areas where workman’s comp claims originated?  You end up tying this back into what was the goal of creating the ABC model—the why are we doing this question.  In RRAD’s case they wanted to know the true or real cost of transmissions not what the price should be.  Based on that they assigned the cost of workman’s comp to those areas where the claims originated.  If you had spread it over all the areas it may have appeared as a relatively small cost—while in fact it was a rather large cost for the transmission area.  By assigning to the area that generated the cost you highlight the cost and can focus on ways to reduce it like increasing emphasis on safety in the transmission area.  Another point needs to be made to.  Just because you assigned workman’s comp costs to the transmission area in the ABC model doesn’t mean the cost of transmissions has to go up to their customers.  This is the ABC model and not the financial accounting system.  You can spread the cost of workman’s comp evenly for pricing purposes if you choose—but be aware of that distinction.

q.  As you build an ABC model a primary question to ask is “So What”?  If I do this, so what, if I break this activity into 5 lower level activities so what?  What do I gain?  Sometimes you don’t want to break an activity into sub-activities because the cost is too small—leave it at a higher level.  Two primary questions to ask in deciding whether to break an activity into sub-activities:   “what do I get out of it” and “why do I care”.

r.  Here is a good test to determine whether you have a good cost driver:  If I add one more of the driver quantity would my cost increase? Yes equals a good driver.  An example if my driver was population served and if I added one more person served and the cost went up then I have a good cost driver.  

s.  The more descriptive you can make a driver quantity title in the ABC model the easier to understand and remember what information is required when you go back to update the model.  Example:  “Dir for Operations population served for Maintenance shop” versus “Dir for Operations population served”—identifies you are talking about number of people in maintenance shop versus the entire depot.

t.  Some things to be aware of when looking at cost objects.  The number of units produced may not always be a good activity driver (when assigning costs from Activities to Cost Objects) because not all units produced are equal.  For example the activity steam, blast, clean may take more time for an engine versus a hull.  Also, the activity may be done in batches (e.g. clean parts in a basket versus individually).  In the RRAD model used actual number of direct labor hours as a driver to assign costs to recognize the differences in the level of effort.

u.  During the review of the unit transmission costs in the RRAD model the cost for the HEMTT was very low.  Why?  Most of the material was ordered in the 2Q for engines produced in the 3Q.  Point here is that it may sometimes take moving costs in and out of different quarters to match up costs with work performed.  That is the danger of looking at only one quarter’s worth of data.  As you add quarterly data and maybe even looking at a year’s worth of data this effect is minimized.  Be aware of this when reviewing ABC cost data.

2.  The RP effort concluded with a successful outbrief to Red River’s leadership.

